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( Principles of Microeconomics—I )
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The figures in the margin indicate full marks
Jor the questions

1. Answer the following questions (any ten) :
1x10=10

wore il eRPrRY O Bt (R qeiet wad) -

(a) Define ordinal utility.
BRIvT SRR wt Far

(p) What is mixed economy?

firy SRS 62

(c) What is scarcity?
el 15
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(2 (3)

(d) What is income gffeg:t? (m) What is variable cost?
R R e @ ST 8 57
(e) What is composite demand? (n) Mention one assumption of perfect
e Siftw R59 competition.
! o dferiiien «bt iyt SEy w4
d. | : .
i Stateﬁt;; law of;e'rlnan (o) What is marginal rate of substitution?
e o oifge afswaon =/ &7
(g) Define market. (p) What is cost function?
IR IR o | [ T A 52
(h) State one assumption of the law of (@ Define consumer’s surplus.
supply. (SIeF 998 I AT W
@i kiR @Bt 56 1 SfsgRet Tt
2. Answer any five of the following questions :
(i) What is production function? 2x5=10
Beotm T 59 wore il 2PTRT R G <l Sea frt

(a) Write two characteristics of socialist

() Mention one cause of diseconomies of | economy.

large scale production. | TR SRS 7o @Rigy Bt

R JIQI e . |

R wfieReN <5t e fBorai | | (b) State two determinants of demand.
(k) What is explicit cost? : IR T | Al

A4S IR 52 ' (¢ What is income elasticity of demand?

o sitmie o RRSEeel IeE R qure

() Can two indifference curves cut each o

other?_ (d) What is fixed cost?

o1 PR TR il T A | i 79 7
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(e) What is minimum support price?
ey RS Wiy 757

() Write two characteristics of a centrally
planned economy.

Famed Rewe 9dAifs bR Jor @Ry
o

(g9 What do you mean by price rationing?
Price rationing 3fwE & @17

(h) What is isocost line?
T-Beoiw I A 752

() What do you mean by shift in supply
curve?

N @I SN RS e 5 @i

() What is long-run cost function?

A IJW T 9

3. Answer any four of the following questions :
Sx4=20
TS Rl SR R @it iRkerR Be Rt

(@) Explain budget line with the help of a
diagram.

foar RIS A et 3

(b) Distinguish between market price and
narmal price,

A ¥ A T8t g oy el |
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()

(@)

(e)

(9)

)
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(5)

Discuss the factors affecting price
elasticity of demand.

R W RfSreee R sz
S 4 |

Distinguish between monetary cost and
real cost.

WS [ IF 4TS TR Ay orgsat|

Why does the demand curve slope
downward towards the right?

siftwt @eroE G fRer e =9

Explain the factors affecting shift in the
supply curve.

@A T PRTe  ge R F
ToMFPTR ST 4t |

Explain the assumptions of indifference
curve analysis briefly.

frere @ Repw sfsusrsz ofe
s 79 |

Explain short-run equilibrium of a
firm under perfect competition with
abnormal profit.

opf afewifieR srefe JPm AfSd 92
ZFIEA SIFITS! WIF IHefii Aoy Rew
e |
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4. Answer any four of the following questions :

10x4=40

oo figl erpiRd R ceiel oIRGB S ot -

(@)

(b)

(c)

(@)

(e)
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State and explain the law of demand
with the help of a diagram.

oIt R Bt =i foum =it it <+

Explain the law of variable proportion
with the help of a diagram.

ST Sprire RIRT Bag =@t gt st

Explain diagramatically the law of
diminishing marginal utility. What are
its assumptions?
T 2ifde Semilrel RN foum aml
Y 7| W RN {5 759

What do you mean by diseconomies
of large scale production? Explain its

causes.

IR TR AR SfrsgiRel 3fret 6 g2
W PRPEZ I 3 |

What is least cost combination of
inputs? Discuss how least cost combi-
nation of inputs is attained with the
help of isoquants and isocost lines.

2+8=10

TS IFPTNR AN 2 AR @3 ST
T @ RFe M Prew e
TR+ T4l W, AN 4 |
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9)

7+3=10

2+8=10

(h)
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(7))

() What are the characteristics of perfectly

competitive market? Explain long-run
equilibrium of a firm under perfect

competition.
§f ofewfromee @ wWREER 77
Af eferafronee W AN ST

s Pl T

Explain the properties of indifference
curve.

PR @R EAREFER I )

Discuss the long-run industry supply
curve under perfect competition.

of afswibrer SogeR AR Qe
Clciiall

* % k&

4+6=10
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